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1. Which of the following diagrams is the

correct solution to the equation
4(x-2)=2(Bx-1)?

A pmm -0 -+ X
B. onm -m  + =¥

@—=nnn X=> =3

D. —— - 75:‘7‘

|2. ‘What s the value pf x in the equation |

2(x+5)=52
. g -
alx - @S
5
C. > D.5

7S v

q@)-ﬂ 2(ax-1)

yy/ -8 = b¥x -2
-Hx -49X
_8='2x....
+=2 2
foes . : E i, A |
—__@= (Xs—s
o2t S
2(')‘4'5) = 5
2% v\ =5 :
- -y
‘%‘: -% R

Numerical Res

‘ ol BB br e bl
| 3. When the equation 5 4 is simplified, /V ™ e /‘1, = Y )
the value of x is ; v -
I i 41 e’
Use the following information to \
; answer the next question. 3 & X + 2
» 0,2,-6,—10

4. Which two of the given numbers belong
to the solution set of -3 < x +2?
(A)oand2 B.2and—6 -

C. 6and—10 D. 0and —10
0> -3< 0 +2
2< 2
-2 <2 & +2)

| 2
| T

=

. ;Zj;,—r 2o we can *ell that

- b and -10 c;oo\c{ ho't'be

—
SolutHons becanse, et

("3’<"(5’j 1§ pot TRV and

@MCX 10 +2 N1 e
Bt

%D/WJ :



Use the following information to

\\Q_{\ answer the next question.
w < 7% . |The given number line represents the
+_g ¥ solution to an inequality. . @ '\mp‘)&s em&, ?. oR <
i G .
‘0’)& , s - the agkow goes towaeds the
fZ) _ y " o
* O(O‘d" 5. Which of the following inequalities RIGhT, s0 1t musr be
represents the solution to the given & 1 y
s i - 1T Sraets 00 -4 i
e e So sowthon is x>-4
@—5x+6sz6 . =
Gy —5%+62 26 °L/¢f‘5 +ry SobsriTution:
e AL B(H)re 2 2 204626 X
" B X
: 1T- ~ it c), =S(-D +0 Z-26 I mems e
4)_' X4 = 2<‘(: 2 D7X- S5+ £ - 2 A i3
—gx :___ wﬂom Seluskion. / =
i ; :
| r\'
.‘s> X+ zwa-)c“?-@” w
= V-5
-
Use the following information to '
answer the next question.
46 Enrico needs an 80% average overﬁveé;‘_. « St UP "rhe/ aV 2) -
T subjects in order to qualify for a ‘ ol
scholarship. His marks for the first four X + + 86 +8> L3F
subjects are 79%, 86%, 83%, and 77%. 80 = = - —
[ Numerical Response

X+225 P
6. What mark must Enrico get in thef?h 80 <> —-—‘—"" ) and 50\"’6 1E
%

subject to earn the scholarship?

:; - 5 (80) = <><+ 325). &

B 400 - x+gg§ @
i | - 325

@ 7.  What are the coeffigients of the variable = %hw }”S&QJ ; QX CQ-F)"\ C(.Q,V\T

terms in the expression 5x —y —1? Y 5
A. 1 B, Oand 1 5>(

C.3and 1 @sm 1 -)/ — -

i - o




8. The equation x2-4=21is represented

C by which of the following statements?
A. A number minus four equals =P
twenty-one. this wov d b2 X-4=22
B. A number times two minus four —
equals twenty-one. ths would bes X 2 -4=2
number times itself minus four P -HUS (QOM bQ, ( )C - X) Ys2f
equals twenty-one. 2)
D. A number multiplied by itself three L’ X Y22 )
w——d

times then divided by four equals ; 7%(5 woold be (x X-X)/4 = 2|

2 twenty -0ne.

9. Whi 1 1 7
ch of the followmgexpresswnswthe b S'MPL‘J iS < ZEOQ.P "l\KQ " 1o ns

, simplified form of
c -‘ (is 8S3r42-rt) é;’;;ZY; . o worite A’cTeﬂ) "addlin % %005'@”
é& s {;(;os - (9%-3c+t) -Frc+ T
8s — 2r +2t ' - = $
D. 8 - 4r + 2t y w '3r +’ - t +t
Sivmiteecd &5 -2r & 2C
\"é—-/-p/g_.—/

10. When (3x2 —4xy +2y2)

+4xy +5yz —2x 2) |
+(x2 = 5xp — 3yz + x) is simplified, what ‘UJ})e,n JROUP'/‘ / ﬁém& /a)

C is the resulting expression? | Con ON \9 Q 0/0[ or 5 U bm 4 C—/-r

A x2—13xy+4yz
B, 3x? - Sxy +4yz L Teems —p b&(/e/ Erms havey

: Same \/xecahles
ond 2xponenT

' + 293 + 4XY +5 (j
@wﬂf @ﬁ 3 '5%“'&
Y- 2><2*+ X2 — Yx +9>( = J+J%+ R EA

o ZXZLW?J“X
- 5j +‘£yzf+x

x2—5xy+4yz+x
D, 2x2:713‘y_qy +4jzz+x
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Use the following information to
answer the next question.

/

//—_\)

l ey
\.ooo v =1

The given algebra tiles represent an
algebraic expression.

&;

mwms

B

D

.5&“)@' én&_ MKQJV 324"‘0 P&L&S |

11. A simplified form of the algebraic
expression represented by the algebra
tiles is

A. 5x2+x+3

—-5x2+3x+1

C.-3x*+2x+5

D. 3x2+5x+2

Use the following information to
answer the next question.

|remey TEEED e DS DD

[

@ 12. What is the other factor in this

arrangement of algebra tiles?
A, OO0 ) e

B. I 11 1L f § 10
| F 1 | — 1C 1

S S 0000

13. Which of the following diagrams shows
the correct setup of the grid for the
expression 3x(x — 6)? C.

x Erm——nnu

=
—r v

o @) is molgied
k:j arather (4) s

a -
or His o bo , @ (+) mostée
' I _if,m,mw? é’j g o
507 & @.x) (><+x4}x+ (-"\)D P

() (3 + -9) o 3y LYk

W‘/
e Come oesw 30D [

BX > oo e () Ie¢r>
X-6

(__y e DDDDDO (OA +op)



Numerical Response

. Ehers O(N;if@ Powers of eguel bases
@ 14. When the expression sObteo Q,XPO hents.

~ 9n*+36n3 + 1502+ 21n is divided by-

3n, what is the coefficient of the 7 *-term “aqn ¥ ¢ 36 7 2 ) 2)*’ o/n, ) g wrLTe
in» the quotient? __ ¥ b ] » 3n

| « _ |
E et = z r
I (ol s \% ‘\ 3/ B 37 T3
) | 3
Use the following information to R 7 il o @ + SN + F

answer the next question.
D is a diameter of the circle. Point O is 1
i radsin e Berrembee Tt i irsceibed angl,
% T diameter. s 90° /
L4 = 90"
VAT (o) .
ol anot ob = MCLJ
4 O Ol nofes RS
= TRcanr e an 1Sosce ler
fet'arg/-e G M o 240“9
'OL'ao

x .
190°= 118 + 2%
15. The sum of angles x and y is KSO;-' g = 2x -t 625: 2)( = Y"JIQ
A. 46° B. 67°
@‘1:1? D. 134° o 2 As Ip° = Y+ a°

. el 579
| 24C =07 s> /§0= 90°4 86 Fx
| —— X = [80>— (G0°F 3c°)-180"-|2L>

K /\,¢==<’\
| & Xy 5@ X~ 579




building for the redevelopment of the

downtown business center. Itis built with
6 cm cubes.

L

980 cm?
D.2 376 cm?

A.1 512 cm?
__ C.2 104cm’

f'\,—\

‘The scale model is used to representa |

|_16. Excluding the bottom faces, what i§ ﬂ.ae '
5 surface area of the model of the building?

¢ EACH FACE Has A Aeed of = b onf™

@ 7 ’(a

Trepe Are cubes B R, TN

o FPrcce o Ib cokes = |bxb = qéfacej
W

o ThERE ARE 15 aeﬂ*ad:s
15 oveplaps « 2 = 20 faceg

- S0 -ofed E«(Q@:(%," 30)= €fus
- Bur: e lstem prces ape nol”

i - coonted (1t faces> — bbb —Il fazd -
éffa—fa/ ary = 5:5;@,@{5,( 36 O?éé G 5s
- 1780 emZ

|3 | This ,composit.e object is built with

5 c¢cm cubes.

Numerical Response

The surface area of the given object i
cm:.  +SO .

18. To guarantee that AABC is similar to
ADEF , a student can verify that
£A = «£D and that

@4C=4F TRUE

B. 4B is proportional to DE NSTTRIE.

3 i i Ll

C. BC'is proportional to EF e
‘ D. 2B+ +2C = LE + «F NO

% 4® and DF GRv

Li

I net P,eoaooﬂ‘f'fond

¥4

Sﬁme; dvg\eg

o Aves ot EBcH FAcE = CE)-S)cm"S@
« fHepe Are F Cubes
e Edces (M4\> > Fx b )@C&S:‘—qz)
. ovo_p(aps : 6
o ARaz) (fot) = 42, -/
frces Y $ow(ﬂﬂf
20 Eces

- Tote! ager - B0 fases x z25 %Q/

= ¥5O Cmb

ces =

§Cm(la;2,-n2£anales E\m }b.\/Q)
OR_ same K&t iOS.

,:, < 2ZA =4D
e B g
B0k
DE.EF A



4 D
50° /60°
/A\ /\ - ,S‘:m,kﬂ/mc'avﬁfes‘ = e anﬁm
70° 60 70° 50 A
B C E - R RS ST,

)
'S
P tienas: FTI O SRS
a

| “\ s2h:50 LBz LC=6O"
’ ”l19. In the diagram shown, in order to illustrate 0 > B R 1\
' the properties of similar triangles it is best B c ol
' tostate that A4BC is similar to
| A.ADEF B. ADFE . o *H‘en ZF”SO LE= ’r’D //D~=éO
| C.AEDF ) AFED
e = | BE m most &2 9*n«u(aﬂ— o
- 11| In order to play a particular game with '
Grade 6 students, a teacher places four
D\)‘ — 4}l markers as shown in quadrilateral ABCD. —— e — - » ,
To play the game with Grade 9 students, : \ \
ﬂb . 1{l the teacher enlarges the field by placing S 5"0\1(@'2/. Po Yygans —> C,O%f Qf’_d‘:ﬁ
- the four markers as shown in . .

20m A 20m  24m A 24m = 5)“6 MN,%Z S éh/aejewnz
' D B o o .._,_§E>I PRt
| 2M '
(_&)_ | 50 m 50 m 2 It H% = é‘% i :
Nk v ‘ » 70 Oal cu/aJe/ Yhe “Ned /@Qy‘f’)
- P -

| | LJQ./ mu/v'-rp\bj Yhe c/a/ _/@W
5 £

20. Given that quadilateral ABCD is similar cQP:- b x 1.2 = 50 xl.2 = &Dn
to quadrilateral MNPQ, the distance from | [t i i e sy
marker O to marker P is @ m.

Use the following information to | : 'A ; ' ‘ ‘
answer the next question. £ i aje. 1_1 L DF tons ‘H’Ud c£¢ n T
The following question was asked to the W’é/ Seh e
members of SPCPP (the Society of People
who Consider Pluto to be a Planet): “What (5 ) - n st & '2“/05@/ ma ﬂé £
is your favourite planet in the solar ‘0 :
system?” & @ —> PtU'I‘O 1S JSSOMQCQ ;'Q!Q__ /’OT
21. The results to this question will not lead "o ke RaTed o G NP,

to representative results because the

@*fm" . @ —2> noO ong@m et ‘HIQ/

AJis addressed to a biased sample of

people Lerrdens, bot HIs bms_ecJ»

B. deals with a private matter

C. is not culturally sensitive :ﬁ L AdPesced YO F Lee 1o P)‘A&@}

D. is not worded properly




~a

A survey is being conducted to test
people’s reactions to a new smoothie store
that is being put in the mall food court.
People are offered a taste of a selection of
smoothies. Then, they are asked to fill out
a short questionnaire about the sample
beverage and the location of the new store
in the food court.

A Vokes no \o%\‘ca.l Sense

B. this 1s a sm=ll Eaﬁ\plﬁz and
does hot Rep@e%\'f’ the
PoFo(a)L\'or\

Which of the following groups of people
would most likely represent the
population targeted by the survey?

A. Employees of the other food vendors

B. People in the health food store
People in the food court —————F @ -‘hsa, Pgo (D‘Q/ are Q&R)M@OQ s
____D. Shoppers on the street 4o ‘H\Q/ (éyoap Coort” Of:én i
i _ Ve ape H2 Taret”
Pamela wants to survey people in her

| | community to see if they think a skating
| rink should be included in the construction

of 2 new family centre. :

: 23. Which of the foﬂowing sample
populations would provide Pamela with
| the most meaningful data?

| A. All parents living in the community —% Zxelv des e
¢ B. All children attending the community

= gxeludes Hooolde Vwes

schoql

C. A representation of ringette and

| /, hockey players

b A representation of children and
€
H

Z adults living in the community

| —

8]

¢ | Cynthia has just been elected student
union president. The first issue on her list
of improvements for the school is to
replace unhealthy snack options in all
vending machines with healthy ones.
Before she follows through with this
change, she wants to ask students from
different grade levels which types of
healthy snacks they would like to have.
She formulates a question that she can ask
to get the information she needs.

Which of the following steps should
Cynthia implement as the next step in her
‘ investigation?
/@ Belect and identify a population or
P S = sample to be investigated.
!\ @ Select and identify a method of
% S collecting data.
‘ C. Display and analyze the data.

| D. Collect and record the data.

oo potentel sues

G VOt & ThUue

O

Waec,ﬁ_ = 'q{ “+he (29,

‘he rext Step snoold e
Feofo(co o ke GUﬂ\/Qjcﬁ”.



i
i Figure ABCD is dilated by a scale of -‘1?
with the centre of dilation at the origin to
form figure A'B'C'D".
¥y
i
i 8
| | T a0
| A 4 b
; \ £
; D, N U/ =
-2\ -8 X 4
= C 4
| %
] O
25. What are the coordinates of figure

é 4} A'B'_C'D'?

A- A,(_'4: 8): B'(O, 4)3 C’(—'4s 0):

f D'(-8, 0)
i J;‘ @A'(_z’ l)’ B’(-I’ 0)’ C’(_z, —1),

} D'(—3a 0)

| C. 4(-12, 0), B'(-8, —4),C"(~12, -8),
g D'(-16, —4)

{ D. 4'(-32, 16), B'(-16, 0),
i C'(-32, -16), D'(-24, 0)

1 =
1
}r e e et
A’B’C’D1sthe reduced image of ;

| |Emue anCD. -2
| Foo 856l . B QR4 -
i A hip

? 12 3

b C"
I s s

26. What is the scale factor of this reduction?
' s -

®

/N1 b |
@? R

A A(- '_)
K BGVO =b( @ 5(1@

celgH):=0 (’“3‘ 7"‘:‘) (-2,

2 0(-20) = o_l(-_%, 0)=D/(-3,0)




~Use the fallowmg mformatzon to
answer the next question.

Tnangle ABC is. njansfonned into
triangle AB'C". ;

27. Thxs tmnsformatlon isan example ofa
A. dilatation

B. translation-

rotation-about point 4
flection across line /

Aﬁguremthe shapc ofa5 mshownon

the given gnd. )0°
L TELR

Coold b
A
«this'is @ Replechon; i
image. }S a ‘micror " image
Of He. OE,IZMQJ

“fhe {ecHOY\ e PRROR | IS
lceosc (ne ,@ Bg#t’n B Shodl
bo 4 e aceoss /eom B!

« Bt Lrcavse B and c' are. pst

Aceoss R B ard c I?egp@c:ﬂ\/d\d/

1t most be ay ROEHIN about-4
(18&0°) |

29. The expression 3> ><3 % 3 x 3 can also be

@ written as ;
f A.l a
/@ws"

' B43
D.312

a0
£ mEE -[-ks is 2x DxBxR IS W
, T O p JleeTe O
A figure on a grid d QS fr $/\O£u :
28. Which of the following diagrams shows
@’ given figure rotated 90° clockwise? (@/ 30. What is one-elghth of 26?
: - 7 Ly ; B. 12
\'\,' C. i e C.24 - D. 25
= Z! 3 :
= * =00 2 | S
P=: o 2 % :
B T E
. D. SRS CY O S
— = : -7 b
: 2° _56-3 -8
ek L <ot
] 5




/m 31. What is the expression 4% x 41+ 4% ag a

2 /O > =
b @\b\ : . .Szg;‘power? “"B. 41 . ___’_Lf 4 Lf : y
Wﬂ\ | @ D. 4!

i L 2
32. The expression (2) is equivalent to

| 5
- 9 » 81
; i A L
18 - 81
{ ot i
& 25

Numerical Response

33. Rounded to the nearest hundredth, whatis <$>2) = Qg ‘2_),.— ) _ﬁ- i SIS
a S - — x o

_thevalue of the expmsxon( ) 0.] b

Use the following information to

answer the nex{ questiO(z. 44’,!»12 73 ea s ?@ﬂ/ *fo CLb Q( g,o\*/v e

A local radio station has to g1ve a z

) skill-testing question to the winners of its | CL?n ominatorRs &‘5 e % ,O
4 on-air contests. The winners can only
claim thelrpnzcbysolvmgthe given . 640 [ 2 AR ) e
g : expression. : l b ms
2%+44+( 52)+( 130) pearee L_’l, x_':’_ T o016
~ 25 4 | lm s

| 34. In order to clazmthe I mze, a winning™
contestant must prow'aefﬂleﬁ'actlon

:.1 : L | s B_,_z__ = o ,3 1, ."J+<£s,z) + "‘ ,o)
@1 L e 9 Corvlet o -ér/
e T fRackon

%*E*><

1 Corvert Yo f*eﬂd"oﬂ LN G’enc)mma‘h(
Oé 10 -

| Ank
‘ﬂen QJ lo

( (ﬁi ,gihﬁ“




Mehssa uses- —1— of a tank of gas to travel

to and from her brother’s house. In July,
1'she went to his house 7 times.

Numerical Response

35. Ifher gas tank holds 40 L, how

many litres did Melissa use travelling to
her brother’s house in July? Round the
solution to the nearest tenth of a litre.

Ahetmrballoonls335mabovethe R
ground. From this point, it rises 2.8 m
more and then falls 14.6 m.

Numerical Response

%
@ N4 m

36. How far above the ground is the hot air
__balloon now? m

® __L X F = i oéa,'(‘an\(,faf‘

o = t(MeS
« oy s HouF . gpo 1F.5 L

(b 1 il
s et
L4 /405 L—)

. 36.3m
IJ.Srn
— 33.5 m WM.t m
S

m F e
1

lom,g

27,

f Ms. Morley has given the expression
81-24x24-(-3)*+6*+3x2.15t0
four students to calculate. Tlns table
shows their results.

i rName ks
-Gavin
Noah

Ross
Kaitlin

V)

5

\

Solution
37.14 :
30.66
3246
1 9.14

S)

@ &l—qua.q-q.l.gg 5 5
&) 8.1 -2.49 2,4-474&”2.15

Owistan 4 &
@  81-5%F-94 25.8
Mah-ipkccﬁu\

37. Which smdcnt calculated the expmsmn
correctly?

A. Gavin
C. Ross

B. Noah-

(@ Kaitlin -

D) Frorn Lept o exghT
2.834 4 16.8

Qo

38. Using the correct order of operations, the
equation representing the total cost of
Josh’s orderis__

Josh bought supper for himself and his
friends. He ordered three cheeseburger
combos at $5.49 each, seven ice cream

@ X total = (3 29) +(7 x $5.49) sundaes at $1.29 each, and four chicken
| +(4 x $5.99) o combos at $5.99 each.
©)total = G x 85,499 (7 x $1.29)
+(4 x $5.99) " f/ 'ahee&bu@ezs =z Bx 5.4
X total = (3 x $5.49) +(7 9)
- +4x$129) e ~ T CRears 5. Fo 121
D. total = (3 x §5:99 )+(7x$129)/ o Lhicken = HYx 5.9

+ax < $5:49)

R




39. If x is a rational number and satisfies the
equation 3x? = 147, what is the value of

the principal square root ofxz? ® 6 = )(QJ = } l'{ % /\\//ﬁ\\‘f"*\

A. —49
Q7 & ;1}349

40. What is the smallest four-digit number

that is a perfect square?
A.1 004 B.1 016
€ 024 D. 1 036

Numerical Response

41. What rational number has a square root of =
0.5? | IS \) ‘.’ Tz 0.5 means fhe /)omé@&z
42. Using estimation, what is the square root et 1S O- 5x0.5= O‘\/_)
of 757
%9 %2y (8)s7 iox LD _\r’,
;@( 8-\":) D.79 M LA | 4%
2 4
€. heee
43. Rounded to the nearest hundredth, what is < {
/tpe square root of 726? sl \/ 26 = 9 6, q[f ]
(A)26.94 B. 28.98 S
C. 3091 D. 36.92

Toby made a pattern by forming shapes
out of candies.

—2 2N S o eem

o hen n=4 R2(1)= 2
)
BotT e N=1 teem is P
50 Wa peed 1o add 4

m
. Zn +]
w—/
~Shape3 /7@‘/@ UT-'
44. Which of the following expressions can be /75 } }’7 -;2 (\) 'l' I = 5 I/
used to represent the/given pattern? n .
A.2n-1 2n+1 T2 ),'-7(7*)"’\ o

C.2n-2 D. 2n+2



45. The sum of two consecutive numbers is
17. If one of the numbers is x, which of

the following equations can be used to « CongacIve reans l}(d fowb*ﬁ v
solve for the two numbers?
L A.x+1=17 Cach sthel.
; | B. x+2=17 . _16 one nombee is X
+x+1=17
L xtx+2=17 tren, e next number is XH
« Yhen X + (x+1) = [F

Numerical Res

46. If Danielle has 119 marbles, how many .
@ marbles does Katherine have? o j Ka% Rire, — J( ma 2'23 (C_S‘

P A SR CE R

“ 5
Danielle has 7 fewer than 6 times as many y&ﬁcﬂ[{ﬁz - 6)(4 - %

marbles as Katherine.
bX-F -~ 9 = 3(.’/2-(9 o 2l
,-3—<—~‘—~\ ol
W
" Use the following information to 47. Which of the following graphs illustiates
answer the next question. information? . o v
The table of values for the linear a ' J: : ’ '
i’i) relationship between x and —3x is given \1 | ; ‘ ;
\ x -3x ' ’ :
=) 6 5 : g ;ix
-1 3 e - :
0 0 o )
2 %
* b 4
2 -6 B, 1 [
e s X ShckeaosRks . ; /=x

by 4, J(-3%) decresss

A ST
-
o FAS means ‘H\e/(?ﬁﬁb/‘ c{fc&ea.Ses ~tOwnkds +HC /24.5:}\4'

v
B and D are
elrmmnated |

» Betwns A ad ¢ ¢ bas e
UQ&@ Vk(wz/S _',(A'



48. The membership fee at a particular health
club switched from $50 per month plus $5
per day of use to a flat fee of §10 per day

~ ofuse. Which graph represenw the new
(@ monthly fees?
&

_ i gzoo;( $ 0 Per C{aj
150
3 (¢) Days Lf”\ &)
0 > |
RETZ0% 3¢ ) +io
B. Y 2 | 240 =20 |
Gl T 3 | swp-30 S|
3100 .
2 50 . .
°Nslgenszgzs * «+—hiy s & (neace R@{a'f'ion SineR
umber of days :
@ y ; X Shows & [2Tern ; and Y Show
et
& @ (Da ttepn .
5100
e x 5 5 Hhe Relaton rs 2~
0 10152023 N %
umber of days v
‘D' , ; Yardables ) 3 Znardv
g obligoe.
2% , « Snce, X uNckeasts and
0 X

510152025

Number of days ’ﬂcgeagm %, gmfob ?()Q: o,o
R e —— o
; T+ ‘r-/\e/ R pht

Use the following information to

answer the next question. " ' éJ (‘j
= L Ex emmen'ﬁt(
(’) - | A weather forecaster predicts a $0%: ¢ (0% /0 PQQfJO
chance of snowfall on October 31 and .
\C predicts snowfall is 3 times as likely the - 60 meg s \L% -2 60 / )
next day, November 1. )
- s means P Y chance i1

49. What is the probability that it will not

snow on November 1?2 U-)L/QO ")b+ 3 n:DUD
A. 30% B. 60%

__(&)1% D. 80%
{ == e

Baser 1

50. Which arc is subtended by the central

angle in the given diagram?
i A. AB B. AC
@ @ BC D. 5D

“ﬁ'\e, Cef"f'Ra( a?le/ BoC S Swbended
D by the minoe




